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King Fahd University of Petroleum & Minerals 

Department of Mathematics & Statistics  

STAT-211-Term162 

Quiz #2                                     

Name:                                          ID:                                     Serial: 
A traffic inspector has counted the number of automobiles passing a certain point in 30 successive 20-
minute time periods. The observations are listed below 
 
 

 
 
 

1. Calculate the mean, the median, the mode and the standard deviation, comment on the shape 
 
1. The mean: 𝑥̅ = 18.7 

2. The median: 3 = 30  𝑒𝑣𝑒𝑛,     𝑚𝑒𝑑𝑖𝑎𝑛 =
1

2
(𝑋(15) + 𝑋(16)) =

1

2
(19 + 19) = 19 

3. The mode: multi-mode  
4. The standard deviation: 𝑠 = 6.352572 
5. Since the mean less than the mode, the data skewed to the left   
 
 

2. Do these data contain an outlier? Explain 

1. 𝑧𝑚𝑖𝑛 =
𝑚𝑖𝑛−𝑥̅

𝑠
= −2.15661    

2. 𝑧𝑚𝑎𝑥 =
𝑚𝑎𝑥−𝑥̅

𝑠
= 2.56589    

3. Since  - 3 < Z min < 3 and - 3 < Z max < 3, no outliers  
 
 

3. Which is the better measure of center for these data, the mean or the median? Explain. 

The mean since there is no outliers  
 

4. Prepare a frequency distribution.   

Range = 30 
Number of classes = 6 
Class width = 5 

Classes Freq (fi) 
[   5 – 10 ) 2 
[ 10 – 15 ) 4 
[ 15 – 20 ) 11 
[ 20 – 25 ) 9 
[ 25 – 30 ) 2 
[ 30 – 35 ) 1 
[ 35 – 40 ) 1 
Total 30 

5 6 10 11 12 14 15 16 16 17 

17 18 18 18 19 19 19 20 20 20 

21 22 22 23 23 24 25 26 30 35 



P a g e  | 2 

 

5. Construct The Box plot. Comment on variability of the data set. 
 

Q1 = P25 

  R25 = 7.75 

 Q1 = 0.25(15) + 0.75(16) = 15.75 

  
 Q3 = P75 

  R25 = 23.25 

 Q3 = 0.75(22) + 0.25(23) = 22.25 

 
                      ------------------------- 

               -------I           +           I-------------- 

                      ------------------------- 

          --------+---------+---------+---------+---------+-------- 

              5      15.75       19        22.25            30 

   
 Since Q3 – Q2 = Q2 – Q1, symmetric  
 

 

 

 


